PHANTOM 2 Prop Guard Attachment Instructions v1.00
PHANTOM 2 R{RiF2EZ4%5B v1.00

Please follow the below instructions to attach your Phantom 2 Prop Guards.

BIRRTES BRI,

1.

Gather together the Phantom 2, Prop Guards (4), M3x12 screws (8), thread and an Allen key.

ISR PHANTOM 2 K1T8% |, 2RIFRR (4 1), M3x12 8842 (8 1), fRIFE . A7 FARIRLLT],

Remove the M3x8 screws under each of the four motors (Fig.1).

1RBBE 1 s , {EFRIRLLTIEN TR PHANTOM 2 PONERATL LAY M3x8 1822,

Place the Prop Guards and attach them with the M3x12 screws (Fig.2). Tighten as required. Do this for all four
Prop Guards. Do not use thread lock.

1RHRE 2 Fis |, IERFAYITE M3x12 1822 |, F4FPU4 PHANTOM 2 3AR4PEE, ARrTLASEFRIRALER.,

Improve protection further by attaching a thread through the Prop Guards. This thread should go under the
Prop Guards (Fig.3).

1RHBE 3 Fiow , JOREIEFRIRIFER | BRIPERIRIPEE L | TR A S LSRRI R AR,
IMPORTANT: M3x12 screw is only for Prop Guard assembly. Without a Prop Guard, use M3x8 screw to avoid
damaging the motor.

R TIPS |, RIS M3x2 AIRY ; NSRRI | REYEREISH M3x8 12
22, BN, THRAMRLL AR,

/(‘o

4
S e
N
% ~

S AD >
>

_Z

Fig.]1 Removing Screws/[E] 1 EITFRIZZ Fig.2 Prop Guard Attachment/[&] 2 Z2ZE3Z(RIF2E
,/-\——\\\
. _wﬂp; L Specifications/S&4
VG ‘ - o 'l\ Weight (Single)/EEE (B4 ): 21g

( - ‘ W Vol « .. R
\ — :%l : ‘ Angle/f[E : 150.0

{ / Q - Radius/342 : 128.25mm

< \\ Whole Size with Four Prop Guards/R%&EG
BAIMERYT : 613mm

Fig.3 Complete/lgl 3 IR EErEE

©2013-2014 DJI Innovations. All Rights Reserved.



